Chapter 22

Q1.The dipole moment of a dipole in a 300-N/C electric field is initially perpendicular to the field, but it rotates so that it becomes in the same direction as the field. If the electric dipole moment has a magnitude of 2.0 x 10-9 C.m, the work done by the field is: (Ans: +6.0 x10-7 J)

Q2. Two charges are arranged as shown in the figure 1. If d=7.2 cm, what is the resultant electric field at P? (Ans: 1.23 x 104 N/C making an angle of 45o with + x-axis)
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Q3. 
A charged particle with a mass of 2x10-4 kg is held suspended (stationary) by a downward electric field of 300 N/C. The charge on the particle is:  (Ans: – 6.5 x 10-6 C )

Q4. Six point charges are placed on the corners of a regular hexagon as shown in the figure 2. Five of them have a charge of +1.0 µC and the sixth has a charge of – 1.0 µC. If the distance from the center of the hexagon to its corner is 1 cm, what is the electric field at the center? (Ans: 1.8 x 108 N/C.)
[image: image2.png]q

q

q

q




Q5. 
In figure 2, two charges q1 = –5.0 μC, q2 = 10 μC, are fixed on the x-axis. At what distance, measured from q1, the electric field will be zero? (Ans: 2.4 m to the left of q1)
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